# On the Reciprocal Sums of Generalized Fibonacci-Like Sequence

Musraini M., Rustam Efendi, Endang Lily, Noor El Goldameir and Verrel Rievaldo Wijaya

Abstract—The Fibonacci and Lucas sequences have been generalized in many ways, some by preserving the initial conditions, and others by preserving the recurrence relation. One of them is defined by the relation  $B_n = B_{n-1} + B_{n-2}$   $n \ge 2$  with the initial condition  $B_0 = 2s$ ,  $B_1 = s + 1$  where  $s \in \mathbb{Z}$ . In this paper, we consider the reciprocal sums of  $B_n$  and  $B_n^2$ , with an established result that also involve  $B_n$ .

Index Terms—Reciprocal sums, generalized Fibonacci-like sequence.

### I. INTRODUCTION

**M** ANY author have already generalize a well known Fibonacci and Lucas sequence either by changing its initial condition or the recurrence relation. One of that generalization is called the Generalized Fibonacci-Like sequence [1]. The Generalized Fibonacci-Like sequence [1] associated with Fibonacci and Lucas sequences  $\{B_n\}$  is defined by the recurrence relation

$$B_n = B_{n-1} + B_{n-2} \quad n \ge 2$$

with the initial condition  $B_0 = 2s$ ,  $B_1 = s + 1$  where  $s \in \mathbb{Z}$ . The few terms of this sequence are as following

$$2s, s+1, 3s+1, 4s+2, 7s+3, \ldots$$

The initial condition  $B_0$  and  $B_1$  can be seen as the sum of Fibonacci and Lucas sequence respectively

$$B_0 = F_0 + sL_0 \qquad B_1 = F_1 + sL_1$$

Thus, the relation between Fibonacci-Lucas sequence with Generalized Fibonacci-Like sequence can be written as

$$B_n = F_n + sL_n \quad (n \ge 0)$$

If s = 0, then  $B_n$  become a usual Fibonacci sequence. If s = 1, then  $B_n$  become a usual Pell-Lucas sequence. In this article, we discuss the results when s = 2. The few terms of this sequence are

$$4, 3, 7, 10, 17, 27, 44, \ldots$$

The reciprocal sum of Fibonacci numbers was first investigated by Ohtsuka and Nakamura [2]. Some related result for other sequences also have been founded by several authors [3], [4], [5], [6], [7], [8], [9]. In this article, we discuss the infinite reciprocal sums of generalized Fibonacci-Like sequence and additionally the infinite reciprocal sums of square of generalized Fibonacci-Like sequence when s = 2.

The authors are with the Faculty of Mathematics and Science, University of Riau e-mails: musraini.m4r@gmail.com, rustam.r4m@gmail.com, endang.lily60@gmail.com, noorellgoldameir@lecturer.unri.ac.id, arywijaya86@gmail.com.

Manuscript received October 23, 2020; accepted September 9, 2022.

## II. PRELIMINARIES

Various properties and identities of Fibonacci and Lucas sequences have been studied by many authors [10], [11]. We give some identities on Generalized Fibonacci-Like sequence in order to help prove our main results.

Lemma 1: For  $n \ge 1$ , we have

1) 
$$B_{n-1}B_{n+3} = B_{n+1}^2 + (-1)^{n+1}(5s^2 - 1)$$
  
2)  $B_n B_{n+2} = B_{n+1}^2 - (-1)^{n+1}(5s^2 - 1)$   
3)  $B_n^2 - B_{n-1}B_{n+1} = (-1)^n(5s^2 - 1)$ 

*Proof:* Observe that

$$B_{n+1}^{2} = (F_{n+1} + sL_{n+1})^{2}$$
  
=  $F_{n+1}^{2} + 2sF_{n+1}L_{n+1} + s^{2}L_{n+1}^{2}$   
=  $F_{n+1}^{2} + 2sF_{2n+2} + s^{2}(L_{2n+2} + 2(-1)^{n+1})$ 

1) We have

$$B_{n-1}B_{n+3} = (F_{n-1} + sL_{n-1}) (F_{n+3} + sL_{n+3})$$
  
=  $F_{n-1}F_{n+3} + s(F_{n-1}L_{n+3} + L_{n-1}F_{n+3})$   
+  $s^{2}L_{n-1}L_{n+3}$   
=  $F_{n+1}^{2} + (-1)^{n} + s(2F_{2n+2}) + s^{2}(L_{2n+2} + 7(-1)^{n+1})$   
=  $B_{n+1}^{2} + (-1)^{n+1}(5s^{2} - 1)$ 

Thus (1) is proved and (2) is proved in a similar way. 3) From (2), we get

$$B_n^2 - B_{n-1}B_{n+1} = B_n^2 - (B_n^2 - (-1)^n (5s^2 - 1))$$
  
= (-1)<sup>n</sup>(5s<sup>2</sup> - 1)

The proof is complete.

### **III. RESULTS AND DISCUSSION**

There are two main results in our studies, the first one is as following.

Theorem 1: If s = 2, then

$$\left\lfloor \left(\sum_{k=n}^{\infty} \frac{1}{B_k}\right)^{-1} \right\rfloor = \begin{cases} B_{n-2}, & \text{if n is odd and } n \ge 3\\ B_{n-2} - 1, & \text{if n is even and } n \ge 4 \end{cases}$$

To prove the first theorem, we use the following two lemmas.

*Lemma 2:* For any  $s \in \mathbb{Z}^+$ ,

(a) 
$$\sum_{k=n}^{\infty} \frac{1}{B_k} < \frac{1}{B_{n-2}}$$
, if  $n$  is odd and  $n \ge 3$ .  
(b)  $\sum_{k=n}^{\infty} \frac{1}{B_k} > \frac{1}{B_{n-2}}$ , if  $n$  is even and  $n \ge 2$ .

*Proof:* For  $n \ge 0$ , observe that

$$\frac{1}{B_n} - \frac{2}{B_{n+2}} - \frac{1}{B_{n+3}} = \frac{B_{n-1}}{B_n B_{n+2}} - \frac{1}{B_{n+3}}$$
$$= \frac{B_{n-1} B_{n+3} - B_n B_{n+2}}{B_n B_{n+2} B_{n+3}}$$
$$= \frac{(-1)^n (2 - 10s^2)}{B_n B_{n+2} B_{n+3}}$$

(a) If n is odd with  $n \ge 1$ , then

$$\frac{1}{B_n} - \frac{2}{B_{n+2}} - \frac{1}{B_{n+3}} = \frac{(-1)^n (2 - 10s^2)}{B_n B_{n+2} B_{n+3}} > 0$$

Therefore,

$$\frac{1}{B_n} > \frac{1}{B_{n+2}} + \frac{1}{B_{n+2}} + \frac{1}{B_{n+3}}$$
(1)

By applying inequality (1) repeatedly for  $n \ge 3$ , we have

$$\frac{1}{B_{n-2}} > \frac{1}{B_n} + \frac{1}{B_n} + \frac{1}{B_{n+1}}$$

$$> \frac{1}{B_n} + \frac{1}{B_{n+1}} + \left(\frac{1}{B_{n+2}} + \frac{1}{B_{n+2}} + \frac{1}{B_{n+3}}\right)$$

$$> \dots$$

$$> \frac{1}{B_n} + \frac{1}{B_{n+1}} + \frac{1}{B_{n+2}} + \frac{1}{B_{n+3}} + \dots$$

Thus, we obtain

$$\sum_{k=n}^{\infty} \frac{1}{B_k} < \frac{1}{B_{n-2}}$$

(b) In a similar way, if n is even with  $n \ge 2$ , then we will get

$$\sum_{k=n}^{\infty} \frac{1}{B_k} > \frac{1}{B_{n-2}}$$

The proof is complete.

Lemma 3: For 
$$s = 2$$
, we have  
(a)  $\sum_{k=n}^{\infty} \frac{1}{B_k} > \frac{1}{B_{n-2}+1}$ , with  $n > 3$ .  
(b)  $\sum_{k=n}^{\infty} \frac{1}{B_k} < \frac{1}{B_{n-2}-1}$ , with  $n \ge 3$ .  
Proof:

(a) Using identities on Generalized Fibonacci-Like sequence, we have

$$\frac{1}{B_{n}+1} - \frac{1}{B_{n+2}} - \frac{1}{B_{n+3}} - \frac{1}{B_{n+2}+1} = \frac{B_{n+2} - B_{n}}{(B_{n}+1)(B_{n+2}+1)} - \frac{B_{n+2} + B_{n+3}}{B_{n+2}B_{n+3}} = \frac{B_{n+1}}{(B_{n}+1)(B_{n+2}+1)} - \frac{B_{n+4}}{B_{n+2}B_{n+3}} = \frac{-(B_{n+2}^{2} + B_{n+3}^{2} + B_{n+4})}{B_{n+2}B_{n+3}(B_{n}+1)(B_{n+2}+1)} + \frac{(38(-1)^{n+1}(B_{n+2}+1))}{B_{n+2}B_{n+3}(B_{n}+1)(B_{n+2}+1)} \qquad (2)$$

If n is even, then the right-hand side of identity (2) will be negative.

If n is odd, then the right-hand side of identity (2) will also be negative, except for n = 1 because

$$-(B_3^2 + B_4^2 + B_5 - 38(B_3 + 1)) = 2 > 0$$

Thus, for  $n \in \{0, 2, 3, 4, ...\}$  we get

$$\frac{1}{B_{n+1}} - \frac{1}{B_{n+2}} - \frac{1}{B_{n+3}} - \frac{1}{B_{n+2} + 1} < 0$$
 (3)

By applying inequality (3) repeatedly for n > 3, we have

$$\frac{1}{B_{n-2}+1} < \frac{1}{B_n} + \frac{1}{B_{n+1}} + \frac{1}{B_n+1} < \frac{1}{B_n} + \frac{1}{B_{n+1}} + \left(\frac{1}{B_{n+2}} + \frac{1}{B_{n+3}} + \frac{1}{B_{n+2}+1}\right) < \dots < \frac{1}{B_n} + \frac{1}{B_{n+1}} + \frac{1}{B_{n+2}} + \frac{1}{B_{n+3}} + \dots$$

Thus, we obtain

$$\sum_{k=n}^{\infty} \frac{1}{B_k} > \frac{1}{B_{n-2}+1}$$

(b) In a similar way, we will get

$$\frac{1}{B_{n}-1} - \frac{1}{B_{n+2}} - \frac{1}{B_{n+3}} - \frac{1}{B_{n+2}-1}$$

$$= \frac{B_{n+2}^{2} + B_{n+3}^{2} - B_{n+4}}{B_{n+2}B_{n+3}(B_{n}-1)(B_{n+2}-1)} + \frac{2(-1)^{n+1}19(B_{n+2}-1)}{B_{n+2}B_{n+3}(B_{n}-1)(B_{n+2}-1)}$$
(4)

If n is odd, then the right-hand side of identity (4) will be positive.

If n is even, then the right-hand side of identity (4) will also be positive, except for n = 0 because

$$B_2^2 + B_3^2 - B_4 + 38(B_2 + 1) = -96 < 0$$

Thus, for  $n \ge 1$  we get

$$\frac{1}{B_{n-1}} - \frac{1}{B_{n+2}} - \frac{1}{B_{n+3}} - \frac{1}{B_{n+2} - 1} > 0 \qquad (5)$$

By applying inequality (5) repeatedly for  $n \ge 3$ , we have

$$\frac{1}{B_{n-2}-1} > \frac{1}{B_n} + \frac{1}{B_{n+1}} + \frac{1}{B_n - 1}$$

$$> \frac{1}{B_n} + \frac{1}{B_{n+1}} + \left(\frac{1}{B_{n+2}} + \frac{1}{B_{n+3}} + \frac{1}{B_{n+2} - 1}\right)$$

$$> \dots$$

$$> \frac{1}{B_n} + \frac{1}{B_{n+1}} + \frac{1}{B_{n+2}} + \frac{1}{B_{n+3}} + \dots$$

Thus, we obtain

$$\sum_{k=n}^{\infty} \frac{1}{B_k} < \frac{1}{B_{n-2} - 1}$$

The proof is complete.

The proof for Theorem 1 is as following.

*Proof:* By Lemma 2.(a) and 3.(a) if n is odd and  $n \ge 3$ , then

$$\frac{1}{B_{n-2}+1} < \sum_{k=n}^{\infty} \frac{1}{B_k} < \frac{1}{B_{n-2}}$$
$$B_{n-2} < \left(\sum_{k=n}^{\infty} \frac{1}{B_k}\right)^{-1} < B_{n-2}+1$$
$$\left\lfloor \left(\sum_{k=n}^{\infty} \frac{1}{B_k}\right)^{-1} \right\rfloor = B_{n-2}$$

By Lemma 2.(b) and 3.(b) if n is even and  $n \ge 4$ , then

$$\frac{1}{B_{n-2}} < \sum_{k=n}^{\infty} \frac{1}{B_k} < \frac{1}{B_{n-2}-1}$$
$$B_{n-2} - 1 < \left(\sum_{k=n}^{\infty} \frac{1}{B_k}\right)^{-1} < B_{n-2}$$
$$\left\lfloor \left(\sum_{k=n}^{\infty} \frac{1}{B_k}\right)^{-1} \right\rfloor = B_{n-2} - 1$$

The proof is complete.

.

The next result that we obtain is for the reciprocal sums of square of generalized Fibonacci-Like sequence.

Theorem 2: If s = 2, then

$$\left\lfloor \left(\sum_{k=n}^{\infty} \frac{1}{B_k^2}\right)^{-1} \right\rfloor = \begin{cases} B_{n-1}B_n - 7, & \text{n is odd and } n \ge 1\\ B_{n-1}B_n + 6, & \text{n is even and } n \ge 2 \end{cases}$$

Proof: First, we observe the following identity.

$$\frac{1}{B_{n-1}B_n - 6} - \frac{1}{B_n^2} - \frac{1}{B_n B_{n+1} - 6} \\
= \frac{B_n B_{n+1} - B_{n-1} B_n}{(B_{n-1}B_n - 6)(B_n B_{n+1} - 6)} - \frac{1}{B_n^2} \\
= \frac{B_n^2}{(B_{n-1}B_n - 6)(B_n B_{n+1} - 6)} - \frac{1}{B_n^2} \\
= \frac{B_n^4 - (B_{n-1}B_n - 6)(B_n B_{n+1} - 6)}{B_n^2(B_{n-1}B_n - 6)(B_n B_{n+1} - 6)}$$
(6)

If n is odd, then the numerator in the right-hand side of identity (6) become

$$\begin{split} B_n^4 &- (B_{n-1}B_n - 6)(B_nB_{n+1} - 6) \\ &= B_n^2(B_n^2 - B_{n-1}B_{n+1}) + 6B_n(B_{n-1} + B_{n+1}) - 36 \\ &= B_n^2\big((-1)^n(5s^2 - 1)\big) + 6B_n(B_{n-1} + B_{n+1}) - 36 \\ &= B_n\big( - (5s^2 - 7)B_n + 6B_{n-1} + 6B_{n-1} \big) - 36 \\ &= B_n\big( - (5s^2 - 7)(B_{n-1} + B_{n-2}) + 12B_{n-1} \big) - 36 \\ &= B_n\big( - (5s^2 - 19)B_{n-1} - (5s^2 - 7)B_{n-2} \big) - 36 \\ &= -B_n\big((5s^2 - 19)B_{n-1} + (5s^2 - 7)B_{n-2} \big) - 36 \end{split}$$

If 
$$s \ge 2$$
, then  $5s^2 - 19 > 5s^2 - 7 > 0$ . Therefore

$$B_n^* - (B_{n-1}B_n - 6)(B_nB_{n+1} - 6)$$
  
=  $-B_n((5s^2 - 19)B_{n-1} + (5s^2 - 7)B_{n-2}) - 36 < 0$ 

Thus, we get

$$\frac{1}{B_{n-1}B_n - 6} - \frac{1}{B_n^2} - \frac{1}{B_n B_{n+1} - 6} < 0$$
(7)

By applying inequality (7) repeatedly for  $n \ge 1$ , we have

$$\frac{1}{B_{n-1}B_n - 6} < \frac{1}{B_n^2} + \frac{1}{B_n B_{n+1} - 6}$$
$$< \frac{1}{B_n^2} + \left(\frac{1}{B_{n+1}^2} + \frac{1}{B_{n+1}B_{n+2} - 6}\right)$$
$$< \dots$$
$$< \frac{1}{B_n^2} + \frac{1}{B_{n+1}^2} + \frac{1}{B_{n+2}^2} + \dots$$

Thus, we obtain

$$\sum_{k=n}^{\infty} \frac{1}{B_k^2} > \frac{1}{B_{n-1}B_n - 6} \tag{8}$$

Next, we observe the following identity. If s = 2, then

$$\frac{1}{B_{n-1}B_n - 7} - \frac{1}{B_n^2} - \frac{1}{B_{n+1}^2} - \frac{1}{B_{n+1}B_{n+2} - 7} \\
= \frac{B_n(B_n - B_{n-1}) + 7}{B_n^2(B_{n-1}B_n - 7)} - \frac{B_{n+1}(B_{n+1} + B_{n+2}) - 7}{B_{n+1}^2(B_{n+1}B_{n+2} - 7)} \\
= \frac{B_nB_{n-2} + 7}{B_n^2(B_{n-1}B_n - 7)} - \frac{B_{n+1}B_{n+3} - 7}{B_{n+1}^2(B_{n+1}B_{n+2} - 7)} \\
= \frac{B_{n-1}^2 - (-1)^{n-1} \cdot 19 + 7}{B_n^2(B_{n-1}B_n - 7)} - \frac{B_{n+2}^2 - (-1)^{n+2} \cdot 19 - 7}{B_{n+1}^2(B_{n+1}B_{n+2} - 7)}$$

The numerator on the right-hand side of last identity will become

$$(B_{n-1}^2 - (-1)^{n-1} \cdot 19 + 7) (B_{n+1}^2 (B_{n+1} B_{n+2} - 7)) - (B_{n+2}^2 - (-1)^{n+2} \cdot 19 - 7) (B_n^2 (B_{n-1} B_n - 7))$$

With some calculation, it can be shown that this numerator will be positive for all  $n \ge 1$ . Thus, we get

$$\frac{1}{B_{n-1}B_n - 7} - \frac{1}{B_n^2} - \frac{1}{B_{n+1}^2} - \frac{1}{B_{n+1}B_{n+2} - 7} > 0 \quad (9)$$

By applying inequality (9) repeatedly for  $n \ge 1$ , we get

$$\frac{1}{B_{n-1}B_n - 7} > \frac{1}{B_n^2} + \frac{1}{B_{n+1}^2} + \frac{1}{B_{n+1}B_{n+2} - 7}$$

$$> \frac{1}{B_n^2} + \frac{1}{B_{n+1}^2} + \left(\frac{1}{B_{n+2}^2} + \frac{1}{B_{n+3}^2} + \frac{1}{B_{n+3}B_{n+4}} - 7\right)$$

$$> \dots$$

$$> \frac{1}{B_n^2} + \frac{1}{B_{n+1}^2} + \frac{1}{B_{n+2}^2} + \frac{1}{B_{n+3}^2} + \dots$$

Thus, we obtain

$$\sum_{k=n}^{\infty} \frac{1}{B_k^2} < \frac{1}{B_{n-1}B_n - 7} \tag{10}$$

So, from (8) and (10) we have if  $n \ge 1$  and odd, then

$$\frac{1}{B_{n-1}B_n - 6} < \sum_{k=n}^{\infty} \frac{1}{B_k^2} < \frac{1}{B_{n-1}B_n - 7}$$
$$B_{n-1}B_n - 7 < \left(\sum_{k=n}^{\infty} \frac{1}{B_k^2}\right)^{-1} < B_{n-1}B_n - 6$$
$$\left\lfloor \left(\sum_{k=n}^{\infty} \frac{1}{B_k^2}\right)^{-1} \right\rfloor = B_{n-1}B_n - 7$$

In a similar way, observe that

$$\frac{1}{B_{n-1}B_n+6} - \frac{1}{B_n^2} - \frac{1}{B_nB_{n+1}+6} = \frac{B_nB_{n+1} - B_{n-1}B_n}{(B_{n-1}B_n+6)(B_nB_{n+1}+6)} - \frac{1}{B_n^2} = \frac{B_n^2}{(B_{n-1}B_n+6)(B_nB_{n+1}+6)} - \frac{1}{B_n^2} = \frac{B_n^4 - (B_{n-1}B_n+6)(B_nB_{n+1}+6)}{B_n^2(B_{n-1}B_n+6)(B_nB_{n+1}+6)}$$
(11)

If n is even, then the numerator in the right-hand side of identity (11) become

$$B_n^4 - (B_{n-1}B_n + 6)(B_nB_{n+1} + 6)$$
  
=  $B_n^2(B_n^2 - B_{n-1}B_{n+1}) + 6B_n(B_{n-1} + B_{n+1}) - 36$   
=  $B_n^2((-1)^n(5s^2 - 1)) + 6B_n(B_{n-1} + B_{n+1}) - 36$   
=  $B_n((5s^2 + 5)B_n + 6B_{n-1} + 6B_{n-1}) - 36$   
=  $B_n((5s^2 + 5)(B_{n-1} + B_{n-2}) + 12B_{n-1}) - 36$   
=  $B_n((5s^2 + 17)B_{n-1} + (5s^2 + 5)B_{n-2}) - 36$   
=  $B_n((5s^2 + 17)B_{n-1} + (5s^2 + 5)B_{n-2}) - 36 > 0$ 

Therefore, we have

$$\frac{1}{B_{n-1}B_n+6} - \frac{1}{B_n^2} - \frac{1}{B_nB_{n+1}+6} > 0$$
 (12)

By applying inequality (12) repeatedly for  $n \ge 2$ , we have

$$\frac{1}{B_{n-1}B_n+6} > \frac{1}{B_n^2} + \frac{1}{B_n B_{n+1}+6}$$
$$> \frac{1}{B_n^2} + \left(\frac{1}{B_{n+1}^2} + \frac{1}{B_{n+1}B_{n+2}+6}\right)$$
$$> \dots$$
$$> \frac{1}{B_n^2} + \frac{1}{B_{n+1}^2} + \frac{1}{B_{n+2}^2} + \dots$$

Thus, we obtain

1

$$\sum_{k=n}^{\infty} \frac{1}{B_k^2} < \frac{1}{B_{n-1}B_n + 6} \tag{13}$$

Next, we have if s = 2, then

$$\frac{1}{B_{n-1}B_n+7} - \frac{1}{B_n^2} - \frac{1}{B_{n+1}^2} - \frac{1}{B_{n+1}B_{n+2}+7}$$
$$= \frac{B_n(B_n - B_{n-1}) - 7}{B_n^2(B_{n-1}B_n+7)} - \frac{B_{n+1}(B_{n+1} + B_{n+2}) + 7}{B_{n+1}^2(B_{n+1}B_{n+2}+7)}$$
$$= \frac{B_n B_{n-2} - 7}{B_n^2(B_{n-1}B_n+7)} - \frac{B_{n+1}B_{n+3}+7}{B_{n+1}^2(B_{n+1}B_{n+2}+7)}$$

$$=\frac{B_{n-1}^2-(-1)^{n-1}\cdot 19-7}{B_n^2(B_{n-1}B_n+7)}-\frac{B_{n+2}^2-(-1)^{n+2}\cdot 19+7}{B_{n+1}^2(B_{n+1}B_{n+2}+7)}$$

The numerator on the right-hand side of last identity will become

$$(B_{n-1}^2 - (-1)^{n-1} \cdot 19 - 7) (B_{n+1}^2 (B_{n+1} B_{n+2} - 7)) - (B_{n+2}^2 - (-1)^{n+2} \cdot 19 - 7) (B_n^2 (B_{n-1} B_n + 7))$$

With some calculation, it can be shown that this numerator will be negative for all  $n \ge 1$ . Thus, we get

$$\frac{1}{B_{n-1}B_n+7} - \frac{1}{B_n^2} - \frac{1}{B_{n+1}^2} - \frac{1}{B_{n+1}B_{n+2}+7} < 0 \quad (14)$$

By applying inequality (14) repeatedly for  $n \ge 1$ , we get

$$\frac{1}{B_{n-1}B_n+7} < \frac{1}{B_n^2} + \frac{1}{B_{n+1}^2} + \frac{1}{B_{n+1}B_{n+2}+7} < \frac{1}{B_n^2} + \frac{1}{B_{n+1}^2} + \left(\frac{1}{B_{n+2}^2} + \frac{1}{B_{n+3}^2} + \frac{1}{B_{n+3}B_{n+4}+7}\right) < \dots < \frac{1}{B_n^2} + \frac{1}{B_{n+1}^2} + \frac{1}{B_{n+2}^2} + \frac{1}{B_{n+3}^2} + \dots$$

Thus, we obtain

$$\sum_{k=n}^{\infty} \frac{1}{B_k^2} > \frac{1}{B_{n-1}B_n + 7} \tag{15}$$

So, from (13) and (15) we have if  $n \ge 1$  and even, then

$$\frac{1}{B_{n-1}B_n+7} < \sum_{k=n}^{\infty} \frac{1}{B_k^2} < \frac{1}{B_{n-1}B_n+6}$$
$$B_{n-1}B_n+6 < \left(\sum_{k=n}^{\infty} \frac{1}{B_k^2}\right)^{-1} < B_{n-1}B_n+7$$
$$\left\lfloor \left(\sum_{k=n}^{\infty} \frac{1}{B_k^2}\right)^{-1} \right\rfloor = B_{n-1}B_n+6$$

The proof is complete.

#### ACKNOWLEDGMENT

Thank you for LPPM Universitas Riau for providing a support for this research.

### REFERENCES

- [1] Y. K. Gupta, M. Singh, and O. Sikhwal, "Generalized fibonacci-like sequence associated with fibonacci and lucas sequences," Turkish Journal of Analysis and Number Theory, vol. 2, no. 6, pp. 233–238, 2014.
- [2] H. Ohtsuka and S. Nakamura, "On the sum of reciprocal fibonacci numbers," Fibonacci Quarterly, vol. 46, no. 2, pp. 153-159, 2008.
- [3] Y. Choo, "On the reciprocal sums of products of fibonacci numbers." J. Integer Seq., vol. 21, no. 3, pp. 18-3, 2018.
- [4] —, "On reciprocal sums of products of pell-lucas numbers," International Journal of Mathematical Analysis, vol. 13, no. 2, pp. 49-57, 2019.
- [5] C. Elsner, S. Shimomura, and I. Shiokawa, "Algebraic relations for reciprocal sums of fibonacci numbers," Acta Arith, vol. 130, no. 1, pp. 37-60, 2007.
- [6] S. H. Holliday and T. Komatsu, "On the sum of reciprocal generalized fibonacci numbers," in Proceedings of Integers Conference, 2009.

- [7] E. Kılıç and T. Arıkan, "More on the infinite sum of reciprocal fibonacci, pell and higher order recurrences," *Applied Mathematics and Computation*, vol. 219, no. 14, pp. 7783–7788, 2013.
  [8] A. Y. Z. Wang and P. Wen, "On the partial finite sums of the reciprocals
- [8] A. Y. Z. Wang and P. Wen, "On the partial finite sums of the reciprocals of the fibonacci numbers," *Journal of Inequalities and Applications*, vol. 2015, no. 1, pp. 1–13, 2015.
- [9] H. Zhang and Z. Wu, "On the reciprocal sums of the generalized fibonacci sequences," Advances in Difference Equations, vol. 2013, no. 1, pp. 1–6, 2013.
- [10] T. Koshy, Fibonacci and Lucas Numbers with Applications, Volume 2. John Wiley & Sons, 2019.
- [11] C. L. Lang and M. L. Lang, "Fibonacci numbers and identities," arXiv preprint arXiv:1303.5162, 2013.